847,700

15,

1km)

L=28.

o o
o o
< <
I
Z 2




0-000 2

06-******-00000-10

1 ( )
0-06.05.10(0)

oORr Rk

14
00
19
00
01
01
00
01
I CT 00 I CT
12

06-******-00000-10



0-00

03

847,

700

847

847,

700

847

06 -

* * * * * %

-00000-1

0



0-0004

1)
7,917,931
2)
4,921,855
3)
4,384,800
400 2,260,000 06051
6m
400 259,600 06051
BT2t 2.9t | 4 4
8. 5km (6. 0km )
400 t 1,330,800 06051
6m
400 5834, 400 06051
3)
5837, 055

06 -

|
* * * * * %

-00000-10



0-0005

e e 06051
| 5 126,360
e e 06051
| 5 112,320
e e 06051
| 15 262,080
| 0. 45m3( 0L35m3) | |
| 1
| 5 36,295 06051
1 2)
? 2,996,076
( ) 3)
802,620
( )
50,000m3 0 0]
520 m3 112,580 06051
3 D R R
DI D .5km (6.5km )
| 520 m3 690,040 06051
3)
250,736

06 -

|
* * * * * %

-00000-10



0-0006

4. 0m
10, 000m3
520 m3 101,868 06051
50,000m3
520 m3 112,580 06051
22x1524%x3048,802kg/ |
| 14
| 12 16, 632 06051
| 56 mp2 10,136 06051
| 56 mp2 9,520 06051
| >
| 1,664,000
DI D 15.5km (11, 5km ) | | |
| 520 m3 1,002,000 06051
( )
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 06051
520 m3 572,000
3)
278,720

06 -

|
* * * * * %

-00000-10



0-0007

06051
20 278, 720

7,917,931

97,344

2 97,344 06051

640, 000

787,344

8,6pH5, 275

3,233,000

11,888,275

06-******-.00000-10



00008

2,514,104
7777777777777777777777777777777777777777777777777777777 4,621
77777777777777777777777777777777777777777777777 2. 518,725
14,407,000
777777777777777777777777777777777777777777777777 1,440,700
15,847,700

06 -

!
* ok ok ok K ok

-00000-10



0-0009

s0821 0 -0001
10
RTPCOO0OO0O09
0.161 25 272 4,068
9
RTPCOO0O0O1
0.161 22 464 3,616
9
RTPCOO0O0O?2
0.161 17, 472 2,812
9
FOOOOO0O0O0O0O1
110x110c¢cm 10 3,650 36,500
(1 ) 5 P45
FOOOOO0O0O0O0O?2
10 mB3 0 0
- 28 ( ) S9035 0-0002
2.9t 0. 8m3 0.161 54, 530 8,779
#09
7 % 10, 496 725
10 56, 500
1 5,650
A=1 F ( ) B=2 F (Im3)
= 1 * 10 / p = 1 *| 10 /|62 = 0.161 ( ) 4 3
= 1 * 10 / D = 1 * 10 / 62 = 0.161 | ) 4 3
= 1 * 10 / D E 1 10 / 62 = 0.161 ( ) 4 3
= 10 / D = 10 / 62| = 0.161 ( ) 4 3

06-******-.00000-10



0-0010

- 28 ( ) S9035 0 -0002
2.9t 0. 8m3
RTPC0O0O0O0G®6
1.00 20}, 592 20, 592
TTPC0OO0013
119. 00 L 146 17,374
< > ( KTPC0O00O0O0G®6
0. 8m3( 0. 6m3) . 9t 1. 44 11, 500 16, 560
#91
1 4
1 54,530
A=21 _ 0. 8m3 B=119 L/ )
C=1 ) D=1. 44 ( [ )
06-***=***_00000-10



0-0011

S0822 0O -0003
6 m 10
RTPCOO0O0O0O09
0. 069 25, 272 1,743
RTPCO0OO0O0O01
0. 069 22, 464 1,550
- 28 ( ) S9035 0-00014
2.9t 0. 8m3 0. 069 46, 470 3,206
#91
1 0
10 6, 499
1 649
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

06-******-.00000-10



0-0012

- 28 _ ( ) S9035 0 -0004
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
78.00 | 146 11,388
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,500 14,490
#91
1 0
1 46,470
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)
06-******_00000- 10



SPK23040410 0 -0005
BT2t 2. 9t 8.5km (6.0km ) - 1 t
14.21% 82.66% 3.13% 0.00% 3,76
( ) ( ) )
MTPCOOL1H4
14.21% 7,730 7, M9BPTO001H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 22,464 25| RUBPTO00(1
( ) RTPC0O0O0(6
41.00% 20,592 25, ROUPTO000(6
TTPCO0O0O013
3.13% 146 T3BT00013
EPOO1
3,327 0
A=1 BT2t 2.0t B=1 DI D
c=8 8./5km (6.0km )
MTPCOOL154 = N / )+ ( *1.1)
= 1441 *|(760 / 160) + (5,610.0) = 7,730
3,326.2910 = 3,763.9000 *
([14.210/100*7,730/[7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41.,000/100 * 20,592/25,300]) [82.660/ (41
+ ([3.130/100*146/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

*xxxx*x_00000-10



0-0014

S0822 0O -0006
6 m 10
RTPCOO0O0O0O09
. 116 25, 272 2,931
RTPCO0OO0O0O01
. 116 22, 464 2,605
RTPCOO0O0O0O0O?2
. 116 17, 472 2,026
- 28 ( ) S9035 0-0007
2.9t 0. 8m3 . 116 49, 960 5,795
#91
3
1 13, 360
1, 336
A=1 B=1 6m
= 1 *~ 10 [/ D = 1 *, 10 /| 86 = 0.116 ( 4
= 1 * 10 [/ D = 1 * 1 / 86 = 0.116 | ) 4 3
= 1 * 10 [/ D = 1 * 1 /| 86 = 0.116 | ) 4 3
= 10 / D = 11 / 6| = 0.116 ( ) 4 3

06 -

* * * * * %

-00000-10



0-0015

- 28 _ ( ) S9035 0 -0007
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
94 .00 | 146 13,724
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.36 11,500 15,640
#91
1 4
1 49,960
A=21 _ 0.8m3 =94 L/ )
c=1 ) D=1.36 ( /)

06_******

-00000-10



0-0016

V0001 0 -0008
0.45m3( 0.35m3) 1

RTPCO00006

.16 20, 592 3,294

( ) M0202112035
1 2,710 2,710
0.45] 0.35m3

TTPCO00O013

. 6 146 1,255

#91
0
7,259

06 -

* * * * * %

-00000-10



00017
( ) SPK23040007 0 -00009
50, 000m3 1 m3
44 . 49 % 35.67% 19. 84 % 00 % 22
( ) ) )
( ) ( ) MTPCO0O018H3
2014 44. 49% 21,600 2014 21, MOUPTO00193
0.8/ 0. 6m3 0.8/ 0. 6m3)
( ) RTPC000(d6
35.67% 20, 592 25, RUPTO00dS6
TTPCO0O0O013
19. 84 % 146 ITZBT00013
EPOO1
216. 5 0
A=1 B=1 50, 000m3
216.4807 = 229.0500 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/ 44.490]
+ ([35.670/100*20,592/25,300]) * [35.670/35.670]
+ ([19.840/100*146/138]) *|[19.840/19.840]
+ [100-44.490-35.670-/19.840]/100

06 -

*xxxx*x_00000-10



0-0018
SPK23040002 0 -0010
( ) DI D 7.5km (6.5km | = 1 m3
46.25% 38.07% 15. 68 % 0.00% 1, 33
( ) ( ) ( )
[ ] [ ] MTPCOOO 18"
10t 46.25% 21,96710t 20, IGPT000 18"
( ( ) ) ( ( ) )
( ) RTPCO000Q7
38.07% 18,824 21, RUBTO000Q7
TTPCO0O0O013
15. 68 % 146 T3BT00013
EPOO1
1,327 0
A=1 B=1 0. 8m3( 0| 6m3)
c=1 ( ) D=1 DI D
E=24 7.5km| (6.5km )
MTPCO00018T1 = Y / ) + x 1.1) +
= 11,430 |* (830 / |180) + (14,740.0) + 667 = 21,987
1,326.2653 = 1,330.1000 *
([ 46.250/100*21,967/20,667]) * [46.250/46.250]
+ ([38.070/100*18,824/21,100]) * [38.070/38.070]
+ ([15.680/100*146/138]) * [15.680/15.680]
+ [100-46.250-38.070-/15.680]/100

06 -

*xxxx*x_00000-10



SPK23040004 0O -0011
4. 0m 10, 000 m3 ) 1 m3
18. 74 % 64. 69 % 16. 57% 0. 00%
( ) ( ) ( )
< > < > KTPCO0OO0OO 3
7t 11.51% 7,220 , 7t 6, BTPTOO0O0 3
( 1,2 )
< > ( ) ( ) KTPCO0OO0OS
11 12t 7. 23% 12,500] ] 11, ROUPTOO0O0S5
11 12t
( ) RTPCOOOG
43.87% 20,592 25, ROPTO00O0QO
RTPCOOOG
20. 82 % 17, 472 22, BROPTO0O0O0QC
TTPCOOO1
16. 57% 146 TIBTOOO
EPOO1
195. 9 0
A=3 4. 0m B=1 10, 000m3
c=1
195.8130 = 214.1300 *
([11.510/21200*7,220//6, 010] + [7.230/100 * 12,500/11,2001]) * [118.740/ (11.51
+ ([43.870/100*20,592/ 25, 300] + [20.,820/100 * 17,472/ 22, 300]) * [ 64.690/(43.
+ ([ 16.570/100*146/1381) * 11 16.570/16.570]

06-******-.00000-10



4. 0m
18. 74 %

0.

0

00 %

-0011

0-0020

m3

21

+

[100-18.740-64.690 -

. 57(

06 -

*xxxx*x_00000-10



00021
SPK23040007 0 -0012
50, 000m3 ) 1 m3
44 . 49 % 35.67% 19. 84 % 00 % 22
( ) ) )
( ) ( ) MTPCO0O018H3
2014 44. 49% 21,600 2014 21, MOUPTO00193
0.8/ 0. 6m3 0.8/ 0. 6m3)
( ) RTPC000(d6
35.67% 20, 592 25, RUPTO00dS6
TTPCO0O0O013
19. 84 % 146 ITZBT00013
EPOO1
216. 5 0
A=1 B=1 50, 000m3
216.4807 = 229.0500 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/ 44.490]
+ ([35.670/100*20,592/25,300]) * [35.670/35.670]
+ ([19.840/100*146/138]) *|[19.840/19.840]
+ [100-44.490-35.670-/19.840]/100
06-******_00000-10



0-0022

S10500209 0 -0013
22x1524x3048,802kaqgl/ 14 1
( ) KO100065
22x1524x3048,802kg/ 14.000 4 4 616
90
( ) K0100073
22x1524x3048,802kg/ 1.000 770 770
#91
1 0
1 1, 386
A=3 22x1524x3048,80R2kg/ B=1
C=114 ( ) D=2

06-******-.00000-10



0-0023

S1050041 0 -0014
100 m2
RTPC0000O9
0.152 25|, 272 3,841
9
RTPC000O04
0.152 25, 064 3,809
9
RTPC00O00O?2
0.152 17, 472 2,655
9
- 28 _ ( ) S9035 0-0015
2.9t _ 0.8m3 0.152 50, 160 7,624
9
#09
1 % 17] 929 171
100 mp2 18,100
1 m2 181
= 1 * 100 /| D = 1 * 100|/ 656 = 0, 152( 4
= 1 * 100 / D =/ 1 * 100 / 656 = 0.152( ) 3
= 1 * 100 / D = 1 * 100 /| 656 = 0.152( ) 4 3
( ) = 10 100 656 = 0.[152( 4

06 -

* * * * * %

-00000-10



0-0024

- 28 _ ( ) S9035 0 -0015
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
119.00 L 146 17,374
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.06 11,500 12,190
#91
1 4
1 50, 160
A=109 _ 0.8m3 pB=119 L/ )
c=1 ) D=1.06 ( /)
06-******_00000-10



0-0025

S105004 3 0 -0016
100 m2
RTPCO000O9
0.143 25, 272 3,613
9
RTPCO00O0O4
0.143 25| 064 3,584
9
RTPCO000O 2
0.143 17, 472 2,498
9
- 28 _ ( ) S9035 0-0015
2.9t _ 0.8m3 0.143 50, 160 7,172
9
#009
1 0% 16|, 867 133
100 m2 17,000
1 mp2 170
= 1 * 100 /| D = 1 F 100/ 701 = 0| 143( ) 4 3
= 1 * 100 / D =/ 1 * 100 / 701 = 0.143( ) 4 3
= 1 * 100 / D =1 * 100 /| 701 = 0.143( ) 4 3
( ) = 100 / D =| 100 701 = 0.[143( ) 4 3

06-******-.00000-10



SPK23040002 0O -0017
( ) DI D 15. 5km (112.5km ) ( )
46.25% 38.07% 15. 68% 0. 00%
( ) ( ) (
[ ] [ ]
10t 46. 25% 21,96710t
( ( ) ) ( ( ) )
( )
38.07% 18,824
15. 68% 146
2,100
A=1 B=1 0. 8m3(
C=1 ( ) D=1 DI D
E=39 15. 5km (112.,5km )
MTPCO0018T1 = N { / ) o+ | * 1.1) +
=1|1,430/|* (830 / |180) + (14,740.0) + 6667 = 21,
2,099.9285 = 2,106.0000 *
([46.250/100*21,967/20,667]) * [46.250/46.250]
+ ([38.070/100*18,824/21,100]) * [38.070/38.070]
+ ([15.680/100*146/138]) * | |[15.680/15.680]
+ [100-46.250-38.070-15.680]/100

06-******-.00000-10

~N ~




0-0027

( ) S1000007 0O -0018
11. 8k m 12m - ( ) 1
S10000009 0-0019
11. 8km 1.000 17, 136 17, 136
12m 4. 8t
+00
17, 136 3147, 123762* 2
, S10000009 0-0020
1.000 14, 400 14, 400
1 48, 672
A=11. 8 ( km) B=1 12m
c=1 - D=1 -
E=4.8 (t) F=1 -
H=1 - J=1 -
L=1 ,

06-******-.00000-10



0-0028

S10000009 0 -00109
11. 8k m 12m 4. 8t
Juoo1
.000 570 3,570
t E0O0O01
. 800t 570 17, 136
17, 136
A=1 B=11. ( km)
C=1 12m D=4. 8 (t)h

06 -

* * * * * %

-00000-10



S1000009

0 -0020

0-0029

KROOEOOG

X >
o
P o

4.800 750 3,600
KROOEOOO

4.800 750 3,600
KROOEOO 8

4.800 750 3,600
KROOEOO?7

4.800 750 3,600

1 14,400

D=4 (t)

06 -

* * * * * %

-00000-10



